2,
/bc?
. . %
C2 Paper L — Marking Guide @o/o
%
o)
(i) Vv 4 O’b
y=tan = B2
y=sin 2x B2
0 /& X
(ii) 4 solutions Bl
the graphs intersect at 4 points B1 6)
areaofsegment:(%xr;x %)—(%xrzxsin ) B1 M2
=1/ 1203 Al
shaded area = %rzn— 2(%1/271— %rzx/g) M1
= %rzn— %rzn-i- %rzx/g
=123 - 1pn= 1733 —m) Al (6)
(i) wm=k-1 Bl
ws=(F - 17— 1=k -2k MI Al
(i) K-28+K-1=11
K=k -12=0 Ml
(K +3)K-4)=0 Ml
K =-3 (no solutions) or 4 Al
k=+2 Al )
(i) X 0 05 1 1.5 2
L 1 08 05 03077 02 MI Al
x“+1
area=~ 1 x0.5x[1+0.2+2(0.8+0.5+0.3077)] Bl Ml
=1.10 (3sf) Al
(i)  area=8%x 1.10385 = 70.6464 Ml
volume = 2 x 70.6464 = 141 cm’ (3sf) Al )
(i) log, 27 —log, 8=3
log, 2 = M1
3_ 27 — 27 _ 3
Cl*?,a*3?*7 M1 Al
(i) (x+3)lg2=(x-1)Ig6 Ml
x(lg6-1g2)=31g2+1g6 Ml
= 31824136 _ 555 M1 AL (7)

lg6—-1g2
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2,
//)C?
%,
G =[x+x'1} M1 Al S
: %,
8+ 1)—(@4+1)=32 MI Al @
(©)
i) y=[ @'+ d 2
y:%x4+x+c M1 Al
x=0,y=3 . ¢c=3 Bl
y= %x4+x+3
when x=2, y=8+2+3=13 M1 Al (9)
3
(i) l‘xﬁx —0 = 1-8’=0 M1
=1 Ml
x:% Al
(i) flx)=x"—8x
j flx) dx = j (% - 8x) dx
=—x'—4x’+¢ M1 A2
(i) =—-[x"-4x]1 M1
2
=—{(-1 -16)-(-2-1)} = 131 MI Al (9)
(i) Se= %[3000+(5><—x)] =8100 M1 Al
3000 — 5x =2700, x=060 M1 Al
(i)  =1500 — (7 x 60) = 1500 — 420 = £1080 M1 Al
(i) S, = %3000 - 60(n — 1)] M1
=n[1500 — 30(n — 1)]
=30n[50 — (n— 1)] =30n(51 —n) [£=30] M1 Al
(iv)  the value of sales in a month would become negative
which is not possible B1 (10)
(i) f2)=16-20+2+2=0 .. (x—2)isa factor MI Al
(i) - x - 1
x—2)2x3—5x2+ x + 2
20— 4x*
- X+ x
=t M1 Al
- x+ 2
- x+ 2
fx)=(x—-2)2x" —x—1)
fxx) = (x — 2)(2x + D)(x — 1) MI Al
(iii) x:—%,1,2 Bl
(iv)  sin 8 =2 (no solutions), —1 or 1
0:n+%,2n—§ or% M1 B1
—_n I U=
p-x I la A2 (1)
Total (72)
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